
BOLLETTINO UNIONE MATEMATICA ITALIANA

B. C. SINGHAI

The summability by logarithmic means of the ultra-spherical series.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 17
(1962), n.3, p. 255–262.

Zanichelli

<http://www.bdim.eu/item?id=BUMI_1962_3_17_3_255_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

SEZIONE SCIENTIFICA

BREVI NOTE

The summability by logarithmic means of the ultraspherical series.

by B. C. SINGHAI (a Sagar, India) (*)

Summary. - *In this paper the author studies the summability by Riesz logarithmic means of order one for ultraspherical series.*

1. Let $f(\theta, \varphi)$ be a function defined for the range $0 \leq \theta \leq \pi$, $0 \leq \varphi \leq 2\pi$ on a sphere S . The ultraspherical series associated with this function is

$$(1.1) \quad f(\theta, \varphi) \sim \frac{1}{2\pi} \sum_{n=0}^{\infty} (n + \lambda) \iint_S \frac{P_n^{(\lambda)}(\cos \omega) f(\theta', \varphi') d\sigma'}{[\sin^2 \theta' \sin^2 (\varphi - \varphi')]^{\frac{1}{2} - \lambda}}, \quad \lambda > 0.$$

where

$$\cos \omega = \cos \theta \cos \theta' + \sin \theta \sin \theta' \cos (\varphi - \varphi'),$$

and $P_n^{(\lambda)}(x)$ is defined as follows :

$$(1.2) \quad (1 - 2\rho\mu + \mu^2)^{-\lambda} = \sum_{n=0}^{\infty} \rho^n P_n^{(\lambda)}(\mu), \quad \lambda > 0.$$

We suppose throughout that the function

$$(1.3) \quad f(\theta', \varphi') [\sin^2 \theta' \sin^2 (\varphi - \varphi')]^{\lambda - \frac{1}{2}}$$

is integrable (L) over the whole surface of the unit sphere.

The generalised mean value of $f(\theta, \varphi)$ is defined as follows :

$$(1.4) \quad f(\omega) = \frac{\Gamma\left(\frac{1}{2}\right) \Gamma\left(\frac{1}{2} + \lambda\right)}{\Gamma(\lambda) \cdot 2\pi (\sin \omega)^{2\lambda}} \int_{C_\omega} \frac{f(\theta', \varphi') ds'}{[\sin^2 \theta' \sin^2 (\varphi - \varphi')]^{\frac{1}{2} - \lambda}},$$

(*) Pervenuta alla Segreteria dell' U. M. I. il 4 Settembre 1961.

where the integral is taken along the small circle whose centre is (θ, φ) on the sphere and whose curvilinear radius is ω .

We write

$$s_m(\omega) = \sum_{k=0}^m (k + \lambda) P_k^{(\lambda)}(\cos \omega)$$

$$L_n(\omega) = \frac{1}{\log n} \sum_{m=1}^n \frac{s_m(\omega)}{m} \sin \omega$$

and

$$\Phi(\omega) = \frac{\Gamma(\lambda)}{\Gamma\left(\frac{1}{2}\right) \Gamma\left(\frac{1}{2} + \lambda\right)} f(\omega) \cdot (\sin \omega)^{2\lambda-1}.$$

DEFINITION. - The sequence of partial sums $\{S_n\}$ is said to be summable by RIESZ logarithmic means of order one or summable $(R, \log n, 1)$ if

$$\lim \frac{1}{\log n} \sum_{k=1}^n \frac{S_k}{k}$$

exists.

The object of this paper is to prove the following theorem:

THEOREM. - If $0 < \lambda < 1$ and

$$\int_t^\pi \frac{|\Phi(u)|}{u^{1+\lambda}} du = o\left(\log \frac{1}{t}\right), \quad \text{as } t \rightarrow 0,$$

then the series (1.1) is summable $-(R, \log n, 1)$ to the value zero.

For $\lambda = \frac{1}{2}$, we get a corresponding result for LAPLACE series.

2. We require the following lemmas:

LEMMA 1. - If, as $t \rightarrow 0$,

$$\int_t^\pi \frac{|\Phi(u)|}{u^{1+\lambda}} du = o\left(\log \frac{1}{t}\right)$$

then

$$(2.1) \quad \int_0^t \frac{|\Phi(u)|}{u^\lambda} du = o\left(t \log \frac{1}{t}\right)$$

PROOF. - We have

$$\int_0^t \frac{|\Phi(t)|}{t^\lambda} dt = - \left[\left\{ -t \int_t^\pi \frac{|\Phi(t)|}{t^{1+\lambda}} dt \right\}_0^t + \int_0^t \left\{ \int_t^\pi \frac{|\Phi(t)|}{t^{1+\lambda}} dt \right\} dt \right]$$

$$= o \left(t \log \frac{1}{t} \right).$$

LEMMA 2. - If $0 \leq \omega \leq \frac{1}{n}$ and $0 < \lambda < 1$, then

$$(2.2) \quad L_n(\omega) = O \left(\frac{n^{2\lambda+1} \cdot \omega}{\log n} \right).$$

PROOF. - From SZEGÖ [3] we have

$$P_n^{(\lambda)}(\cos \omega) = O(n^{2\lambda-1}) \quad \text{for } 0 \leq \omega \leq \pi,$$

consequently

$$s_m(\omega) = O \left\{ \sum_{k=0}^m (k + \lambda) \cdot k^{2\lambda-1} \right\}$$

$$= O(m^{2\lambda+1}).$$

It follows that

$$L_n(\omega) = \frac{1}{\log n} \sum_{m=1}^n \frac{O(m^{2\lambda+1}) \cdot \omega}{m}$$

$$= O \left(\frac{n^{2\lambda+1} \cdot \omega}{\log n} \right).$$

LEMMA 3. - For $\frac{1}{n} \leq \omega \leq \pi - \frac{1}{n}$

$$L_n(\omega) = O \left[\frac{1}{\log n} \cdot \frac{1}{\omega^\lambda \left(\sin \frac{\omega}{2} \right)^\lambda} \right] + O \left[\frac{1}{\log n} \cdot \frac{1}{\omega (\sin \omega)^\lambda} \right]$$

$$+ O \left[\frac{1}{\log n} (\sin \omega)^{\lambda+\varepsilon} \right] + O \left[\frac{1}{\log n} \frac{1}{\omega^\lambda (\sin \omega)^{1-\varepsilon}} \right]$$

where $\varepsilon > 0$ such that $\lambda + \varepsilon < 1$.

PROOF. - We have [[1], Lemmas 8 and 9]

$$s_m(\omega) \sin \omega = \frac{\Gamma\left(\frac{1}{2}\right) \Gamma\left(\frac{1}{2} + \lambda\right)}{\Gamma(\lambda)}$$

$$\left[R \left\{ \omega^{-\lambda} \cdot \omega^\lambda \left(\cot \frac{\omega}{2} \right)^{1-\lambda} \left(\sin \frac{\omega}{2} \right)^{1-2\lambda} \left(m + \lambda + \frac{1}{2} \right)^\lambda e^{\frac{i\pi\lambda}{2}} \cdot e^{i \left(m + \lambda + \frac{1}{2} \right) \omega} \right\} \right]$$

$$+ O[m^{\lambda-1} \omega^{-1} (\sin \omega)^{-\gamma} + m^{-1} (\sin \omega)^{-\gamma-1} + m^{\lambda-1} \omega^{-\lambda} (\sin \omega)^{-1}].$$

Therefore

$$\sum_{m=1}^n \frac{s_m(\omega) \sin \omega}{m} = \frac{\Gamma\left(\frac{1}{2}\right) \Gamma\left(\frac{1}{2} + \lambda\right)}{\Gamma(\lambda)} \left(\cot \frac{\omega}{2} \right)^{1-\lambda} \left(\sin \frac{\omega}{2} \right)^{1-2\lambda} \left[\cos \left\{ \left(\lambda + \frac{1}{2} \right) \omega + \frac{\lambda\pi}{2} \right\} \right]$$

$$\sum_{m=1}^n \left(1 + \frac{\lambda + \frac{1}{2}}{m} \right)^\lambda \frac{\cos m\omega}{m^{1-\gamma}} - \left\{ \sin \left\{ \left(\lambda + \frac{1}{2} \right) \omega + \frac{\lambda\pi}{2} \right\} \right.$$

$$\left. \sum_{m=1}^n \left(1 + \frac{\lambda + \frac{1}{2}}{m} \right)^\gamma \cdot \frac{\sin m\omega}{m^{1-\gamma}} \right]$$

$$+ \sum_{m=1}^n \frac{1}{m^{2-\lambda} (\sin \omega)^\lambda \cdot \omega} + \sum_{m=1}^n \frac{1}{m^{1-\varepsilon}} \cdot \frac{1}{(m \sin \omega)^{1-\varepsilon}} \cdot \frac{1}{(\sin \omega)^{\lambda+\varepsilon}}$$

$$+ \sum_{m=1}^n \frac{1}{m^{2-\lambda-\varepsilon}} \cdot \frac{1}{(m \sin \omega)^\varepsilon} \cdot \frac{1}{\omega^\lambda (\sin \omega)^{1-\varepsilon}}$$

$$= O \left[\frac{1}{\left(\sin \frac{\omega}{2} \right)^\lambda} \right] + \frac{\Gamma\left(\frac{1}{2}\right) \Gamma\left(\frac{1}{2} + \lambda\right)}{\Gamma(\lambda)} \left(\cot \frac{\omega}{2} \right)^{1-\lambda} \left(\sin \frac{\omega}{2} \right)^{1-2\lambda}$$

$$\left[\cos \left\{ \left(\lambda + \frac{1}{2} \right) \omega + \frac{\lambda\pi}{2} \right\} \right]$$

$$\sum_{m=2}^n \left\{ 1 + \frac{\lambda \left(\lambda + \frac{1}{2} \right)}{m} + \frac{\lambda(\lambda-1)}{L^2} \left(\frac{\lambda + \frac{1}{2}}{m} \right)^2 + \dots \left\{ \frac{\cos m\omega}{m^{1-\gamma}} \right\} \right\}$$

$$\begin{aligned}
& - \left\{ \sin \right\} \left(\lambda + \frac{1}{2} \right) \omega + \lambda \frac{\pi}{2} \left\{ \sum_{m=2}^n \left\{ 1 + \frac{\lambda \left(\lambda + \frac{1}{2} \right)}{m} + \dots \left\{ \frac{\sin m \omega}{m^{1-\lambda}} \right\} \right\} \right. \\
& \left. + O \left[\frac{1}{\omega (\sin \omega)^\lambda} \right] + O \left[\frac{1}{(\sin \omega)^{\lambda+\varepsilon}} \right] + O \left[\frac{1}{\omega^\lambda (\sin \omega)^{1-\varepsilon}} \right] \right\}
\end{aligned}$$

Therefore

$$\begin{aligned}
L_n(\omega) &= O \left[\frac{1}{\log n} \cdot \frac{1}{\omega^\lambda \left(\sin \frac{\omega}{2} \right)^\lambda} \right] + O \left[\frac{1}{\log n} \cdot \frac{1}{\omega (\sin \omega)^\lambda} \right] \\
&+ O \left[\frac{1}{\log n} \cdot \frac{1}{(\sin \omega)^{\lambda+\varepsilon}} \right] + O \left[\frac{1}{\log n} \cdot \frac{1}{\omega^\lambda (\sin \omega)^{1-\varepsilon}} \right]
\end{aligned}$$

LEMMA 4. - For $\frac{1}{n} \leq \omega \leq \frac{\pi}{2}$, we have

$$L_n(\omega) = O \left[\frac{1}{\log n} \cdot \frac{1}{\omega^{1+\lambda}} \right] + O \left[\frac{1}{\log n} \cdot \frac{1}{\omega^{\lambda+\varepsilon}} \right] + O \left[\frac{1}{\log n} \cdot \frac{1}{\omega^{\lambda+1-\varepsilon}} \right].$$

The proof follows from Lemma 3.

LEMMA 5. - For $\pi - \frac{1}{n} \leq \omega \leq \pi$ and $0 < \lambda < 1$ we have

$$L_n(\omega) = O \left[\frac{n^\lambda}{\log n} \right]$$

PROOF. - We have [[3], putting $\delta = 0$ in equation 2.2,]

$$(\sin \omega)^\lambda |s_m(\omega)| \leq \frac{C \cdot A^{\lambda_m}}{\sin \frac{\omega}{2}}$$

$$\sum_{m=1}^n \frac{s_m(\omega)}{m} \sin \omega \leq \sum_{m=1}^n \frac{C \cdot (\sin \omega)^{1-\lambda} A^{\lambda_m}}{m \cdot \sin \frac{\omega}{2}}$$

$$= O(n^\lambda)$$

Thus

$$L_n(\omega) = O\left(\frac{n^\lambda}{\log n}\right)$$

3. Proof of the theorem. -

The m^{th} partial sum of the series (1.1) is given by

$$S_m - f(P) = \frac{\Gamma(\lambda)}{2\Gamma\left(\frac{1}{2}\right)\Gamma\left(\frac{1}{2} + \lambda\right)} \int_0^\pi \{f(\omega) - f(0)\} s_m(\omega) \cdot (\sin \omega)^{2\lambda} \cdot d\omega.$$

Without loss of generality we may set

$$f(P) = f(0) = 0$$

consequently

$$S_m = \int_0^\pi \Phi(\omega) s_m(\omega) \sin \omega d\omega.$$

Let t_n be the first logarithmic mean of the series (1.1), then

$$\begin{aligned} t_n &= \frac{1}{\log n} \sum_{m=1}^n \int_0^\pi \Phi(\omega) \frac{s_m(\omega)}{m} \cdot \sin \omega d\omega \\ &= \frac{1}{\log n} \int_0^\pi \Phi(\omega) \cdot \sum_{m=1}^n \frac{s_m(\omega)}{m} \cdot \sin \omega d\omega \\ &= \int_0^\pi \Phi(\omega) L_n(\omega) d\omega. \\ &= \left[\int_0^{\frac{1}{n}} + \int_{\frac{1}{n}}^{\frac{\pi}{2}} + \int_{\frac{\pi}{2}}^{\pi - \frac{1}{n}} + \int_{\pi - \frac{1}{n}}^{\pi} \right] \Phi(\omega) L_n(\omega) d\omega \\ &= L_1 + L_2 + L_3 + L_4, \text{ say.} \end{aligned}$$

Now

$$\begin{aligned}
 L_1 &= \int_0^{\frac{1}{n}} \Phi(\omega) L_n(\omega) d\omega \\
 &= \int_0^{\frac{1}{n}} \frac{|\Phi(\omega)|}{\omega^\lambda} \cdot \omega^\lambda \cdot O\left(\frac{n^{2\lambda+1} \cdot \omega}{\log n}\right) d\omega \\
 (3.1) \quad &= 0(1) \quad \text{as } n \rightarrow \infty \quad \text{by Lemma 1.}
 \end{aligned}$$

$$\begin{aligned}
 L_2 &= \int_{\frac{1}{n}}^{\frac{\pi}{2}} |\Phi(\omega)| \cdot O\left(\frac{1}{\log n} \cdot \frac{1}{\omega^{1+\lambda}}\right) d\omega + o(1) \\
 &= O\left(\frac{1}{\log n}\right) \int_{\frac{1}{n}}^{\frac{\pi}{2}} \frac{|\Phi(\omega)|}{\omega^{1+\lambda}} d\omega + o(1) \\
 (3.2) \quad &= 0(1) \quad \text{as } n \rightarrow \infty.
 \end{aligned}$$

$$\begin{aligned}
 L_3 &= O\left(\frac{1}{\log n}\right) \left[\int_{\frac{\pi}{2}}^{\pi - \frac{1}{n}} \frac{|\Phi(\omega)|}{\omega^\lambda \cdot \left(\sin \frac{\omega}{2}\right)^\lambda} d\omega + \int_{\frac{\pi}{2}}^{\pi - \frac{1}{n}} \frac{|\Phi(\omega)|}{\omega \cdot (\sin \omega)^\lambda} d\omega \right. \\
 &\quad \left. + \int_{\frac{\pi}{2}}^{\pi - \frac{1}{n}} \frac{|\Phi(\omega)|}{(\sin \omega)^{\lambda+\varepsilon}} d\omega + \int_{\frac{\pi}{2}}^{\pi - \frac{1}{n}} \frac{|\Phi(\omega)|}{\omega^\lambda \cdot (\sin \omega)^{1-\varepsilon}} d\omega \right] \\
 (3.3) \quad &= 0(1) \quad \text{as } n \rightarrow \infty.
 \end{aligned}$$

And

$$L_4 = \int_{\pi - \frac{1}{n}}^{\tau} |\Phi(\omega)| \cdot O\left(\frac{n^\lambda}{\log n}\right) \cdot d\omega$$

$$(3.4) \quad = O(1) \quad \text{as } n \rightarrow \infty.$$

Combining (3.1), (3.2), (3.3) and (3.4) the theorem is proved.

I am much indebted to Prof. M. L. MISRA for his kind interest in the preparation of this paper.

REFERENCES

- [1] GUPTA, D. P., *On the Cesaro Summability of the ultraspherical Series* (2), « Proc. of the National Institute of Sciences of India », Vol. 24, A, N^o 6, 1958.
- [2] HARDY, G. H., *The summability of a Fourier series by logarithmic means*, « Quarterly journal of Maths. », 1931, V. 2.
- [3] KOGNETLIANTZ, E., *Recherches sur la sommabilité des séries ultrasphériques des moyennes arithmétiques*, « Jour. de Mathématiques », (1924), (9), 3, 107-187.
- [4] SZEGO, G., *Orthogonal polynomials*, (1939), « Amer. Math. Soc. Colloquium Publications ».